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l ENGLISH LANGUAGE

pirections (1-10} : Read the
*  pllowing passage carefully and an-
gwer the given questions. Certain
/phrases have been given in
poid to help you locate them while
answering some of the questons,
Onee upon a time, there lived a
woodcuiter. He et trees in the
wouds for a living. One day he was
cutting wood on the bank of a river.
suddenly, his axe siipped from his
hand and fell into the river. The river
was deep and the woodcutter could
not take his axe out. Distraught,
he sat on the bani of the river and
began to weep. Mercury, the god of
water appeared. He asked the wood-
cutter the reason for his sormow. The
woodcutter naxrated the whole sto-
1y to Mercury. Taking pity on the
wogdcutter, Mercury dived into wa-
ter and brought out a gold axe. The
woodcutter refosed to iake it say-
ing that this was not his axe. Mer-
cury again dived and brought outa
stiver axe. The woodcutter did not
{ske this one either and repeated
that this was not his axe. Finally,
Mercury brought out an iron axe.
The woodcntter, ecstatic on sceing
his axe, grabbed it. Mercury was
highly pleased with the woodcutter.
He rewarded the woodcutter by giv-
tng him the gold and silver axes a3
well,
1. Which of the following can be
said about Mercury ? .
(A) He had made plans to punish
the woodcutter.
{B) He felt sorry for the woodcut-
ter,
(C) He Hved around the bank of
the river.
(1) Only A
(2) OnlyAand C
(3) Only B
4) Oniy Aand B
{5) Al (A), (B) and (C)

2. Which of the following cannot
be said about the woodcutter 7

{A) The iron axe he possessed was
a family heirloom,

(B) He did not succumh to temp-
tation,

{C) He was well aware that he
would be rewarded in the end.
(1) Only A
(2) Only B
(3} OnlyAand C
(4) All (A), (B) and (C)
(8} Only C

3. Choose the word which is most
opposite in meaning to the
word given in bold as used in
the passage.

Distraught
(1) elated z) loosened
(3) tensed (4) objected
(5) capable

4. Choose the word/ which is
most similar in meaning to the
word given in bold as used in
the passage.

Narrated

(1) parroted
{2) recounted
(8) rehezrsed
{4) shouted
(5} practised

5. Which of the following is true
according to the story ?
(1) Mercury fell prey to the

waodcutter’'s claborate
scheme.
(2) The gold axc wes useless
when it came to chopping
wood,
(3) Mercury and the woodcut-
ter were in fact very good
friends.
(4} The woodcutter observed
the reward given by mercu-

Iy
(5) All the given statements are
true.
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6. Choose the wordwhich iamost
cpposite in meaning to the
word given in bold as used in
the passage.

Rewarded
(1) penalised
(2) killed

(3) retrieved
(4) awarded
{5) borrowed

7. Choose the word which 1s
most similar in meaning to the
word given in bold as used In

the passage.
Refused
{1) wasted
(2) ignored
(3) garbage
(4) declined
(3) hinted
8. Which one of the following
aspects of the woodcutter's
personality comes ACEOSS very
strongly in the story ?
(1) He was cunning.
(2) He was gullible.
(3) He was careless
{4) He was foolish.
{5) He was honest.
©. Which of the following can be
the most appropriate title for
the stroy ?
{1) Mercury-The Lord of Axes
(2) “This is not Mine”
(3) The Enchanted Axe
{4) The Deep Lake
. (8) The Irregular River Bank
10. Why did the woodcutier start
crying ?

(1) He knew that somconct
would come around and
help him if they saw him
crying.

(2) He had hurt himself while
trying to cut wood.

(3} He had the desire to meet

Mercury for a very long tsm’e_:
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— " Diections (16-20) : Rear- | {00 @D :
{4) Ei[mey ;:I;%r‘not gathefed A} lB"leL {D‘L’: g}fznrm il . cﬂon! mld_ 2?1 =hReaﬂ -.
encugh wood for the day- ﬂr:l':;r agri laph: then answer the each sentence to Bn C::l W:Irz:he, :
{5) Other than those given as guestions givent below them:w Hose there jsi any grammﬂﬁm it e . n:f .
options The little one, 1diomatic ervor . errar,
Directions (11-18) : In cach @ mot;er's sigin the woll Was | o/ il be in one part of the sen.

f the following quesiions, a sen- aring, began to follow The number of that part i
fmm/s contain/s a blank space. ‘S.; w':,igf', ttg:c:’;swﬁ. If there 13 NO errar, {he
You have to choose from the ap- (B) One day he found the skin anewer is (5). (Ignore €rrors of
in the blank in such a mann::nr flayed and thrown aside. s man was sle ¢ )/ at
raphe cmemmemsgfulﬂle;?w mﬂnce/s - (C) Thus for some time he night in his cabin (2}/ that
geﬁymg;;gpﬂm MANner. succeeded in decetving the suddenty (3)/ his room flileg
11. The thieves knew that there :;1:3: and enjoying hearty - with Hght. {4/ No error {5)

was a lot of money in the
bank and wanted to _ on it.
{1) cash in {2) borrow
{3) stash t (4] steal
(6] purchase things
12. It was commmon knowledge
that the Manager had com-
mitted a fraud. Just to __.
the Manager was now lying
through his teeth,
(1) admit it
{2) save his own skin
(3) reaffism it
(4) jurp the gun
[S) make hay while the sun
shinea
13. The ricting crowd had reached
very close to Asha's house.
Asha’s brother somehow man-
aged to avold this erowd and
reached home ___.

() simply  (2) in one plece
(3) in stlent  (4) in jifly
(5) quicker

14. I have heen so busy with work
that 1 have not yet __ to ar-
ranging my things in my new
house,

(1) tried () core ahead
(3) scemed  (4) attemnpting
G gotten around ™~

house tomorrow eve I
you can make it on ll‘.)i.tlnﬁge'.
1) knew that
(2} understands
(3) hope that

_ (1) wishes that

. B} desire

() A wolf found great diffi~
culty in getting at the
sheep owing to the vigl-
lance of the shepherd and
his dog.

(E) The wolf led the little onc
a Httle a far and soon
made a meat off her.

(F) The wolf put it on over his
own pelt and strolled down
among the sheep.

16. Which of the following should
be the THIRD sentence after

Tearrangement ?
{Na 2B
@c @D
BF

17. Which of the following should
be the FIRST sentence after

rearrangement?
(DA 2B
@cC 4D
SE

18. Which of the following should
be the FOURTH sentence af-

ter rearrangement ?
1) a 2B
@c @E
B F

18. Which of the following shauld
be the LAST (SIXTH) sen-
tence after rearrangement?

) B
20. Which of the follgwin,
£ should
the SECOND sentence af-

23,

24.

25.

For hours the secretary ignor.
ing them, (1)/ hoping that the

couple would (2)/ finally be

discouraged {3)/ and go away,

(4)/ No ertor (B)

Working together for the first

time. (1)/ the father and sop

developed concepts of how (2)/

they could accomplish the

task and (3}/ how the ob-

stacles could be overcome,

{41/ No error (5)

Once upon a time there was
(1}/ a watér-bearer who had
two large pots, (2)/ each hung
on each end of a pole (3)/
who he carried across his
neck. {4)/ No error (5)

Often when we face obstacles
{1}/ in our day- -day life, our
hurdles (2)/ seemed very
small in comparison (3)/ to
what many others have faced.
(4)/ No error (5)

Directions {26-80) : In the

following passage there are blanks
€ach of which has been numbered.

th

(o= numbers are printed below
© Passage and against each, five

Words are suggested, one of which

fits the blank
out th appropriately. Find

case

Betting a vyt 1

Secluded there

© Appropriate word in each

On Noah's Ark things were
oring. Noah and his
als had spent so many days

organising gy 4
(28) th nes and activities te

emselves. But, with ail {hat

o,

that they started :

"R

%_

A\
SQ%%

suck

'
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o étgy. the gemes got rather

?Péni:l'a woodpecker ended up
ﬂ‘.'ﬂ'  hole in the bottarn of the
WA L began (27) the boat,
lﬂ‘mg got bigger. So, Tore water
>, and things got a it dis-

o
one by
the hole. They even got

wd:huvc about it because every-
wiP: ted to be the animal that
g gaved the ark. The beaver built
gamm Over ‘the hole. but no 128)
:m . Everyone was [30)
wﬂwmed that the boat would
s That was, until the bee
; m The bee explained
toe"‘fy"m’ how it was that bees

worked together, as a team,
wch one doing the job they were
at. On hearing this, all the ani-
pats act about working together,
qch on playing their part by con-
rhuting their own special talent.
mb{fdsgrabbed onto parts of the
gk with the beaks, and flapped
thelr Wings furiously. Hfting the
poat up @ ltile. The alephants

one, different animalg

qucked up the water i their trunks
ond shot it back into the sea. The
fastest animals ran here and there,
aliecting maierial. Those used to |.
making nests took this material and
ulfed it quickly into the hole-
28, (1) haunt
(2) entertained
(3) find '
(4 kil -
(5) amuse
27. (1 on {2) pouring
(3) seeping-  {4) entermg
(5)coming
%, ()watch - (@) fix
(9 blocks (4] closed
(5)make _
W (jmore (2} 1t
{3) also (4) even
(5 so
30. (1) hungry
- (2) seaved -
{3) much
b @dead ¢

|___NUMERICAUABILITY. |

Directions '(31_401 .
should come in place of the E'uhéf
tion mark {7) in the following ques-
tons 7 :

81.58% of 842 + 2 = 1200
(1)874.54 (2)711.61°
A 67474 (4)543.84
(5) None of these
83. (5P + (12)* = ()% + 600 -
1) 53 [2) 45
(8} 65 14) 48
{5) None of these

1 2 1
33, 25 + 33 —'.lg‘=?

nat @4y
heyg @4y

2 9
34 3 4 3
(5) Nane of these
34, 1221 + 1117 = ? % 6680
(1) 31 2) 24
(3} 38 @1s .
(5) None of these
85, 52% of [?) = 3387.28
{16980  (2) 6342
36718 (416539
(5] None of these -

8. m =?
(13111 2 121
{3)81 (491
(B) None of these
' §7.2376 +32="7
(1)7425 (2)67
{3)64.5 4) 0.69 .
(5) None of these -
38.67539-F43908=?+78902
msos @ 31285
(3) 32485 (4) 33555
(5) None of these
990.12.6 102 6.5=7
(1) 555.68 (2)673.98
(3) 755.48 {4) 83538
(5) None of these

4028677 +,J =79% 1
{1) 38 @) 1225
(91082 @ 36
(5} None of these

clyDirostions (a1-45)  Study the
g table carefully and answer A
€ questions based on it. ] I

Yumhn of hats sold by 8 differ-
| ent ctores during B differen

months.

An‘;\f‘J’ 9\1::

8 \_T

January| 325

280 | 275 950 |300

Febmaey| 320

260 [ 270 | 320 [400

March

280 | %75 | 275 ] 360 |550

‘[220] 300 | 30013201500

4

42

April
(May -

300 | 320

180 350 [260

+ What is the respective ratio
, between total number of hats

sold by skore P in March and
April together and total num-
ber of hats sold by store S in
the same months together 7
(1) 10:19 {2) 7:13

(3 8:19 {4] 8:15
5)8:7

. Whatis the difference between

total number of hats sold by
stores Q and T together in Feb-
ruary and the total number of
hats sold by the same stores
together in May ?

{1) 48 [2) 28.

(8) 3B (flv] 39

(5) 80

43, The number of hats sold by

store R decreased by what per-
cent from February to May ?

1 1

) (1] 45§' 2 335
3 ol

l3}. 403 (4) 44'3'

. .
) 49

‘44, What is the average number of

_hats sold in January by Q. S
and T?

- (1y 3
.(3) 207
(5 211

46. The number of hats sold by

store T in March is what per-
cent less than the {otal num-

bﬂ'ofhatssoldbystom&?and
R together in January ?

(2) 301
(4) 310




~ MODEL PRACTICE srr-m”-—-:..-ﬁ-s;'mt of money of A agg o

e | _ o
w2 - @127 together ? el 1
(1) Si29 () 46524 @185 4139 ) Rs.B,352 (ARs.Gggg.
@ .
8 3 (5) None of these {3)Rs. 9,784 (9 Rs. 7.45¢
1 1 §2. What s the compound inter- (5} None of these T .
(3 33z (4) 40-o est accrued on an amount of The average age of a man gy,
8 . Rs. 15,000, at the rate of Ba'ms gon is 18 years. The ray, ¢
2 11.p.c.p.a. at the end of 3 of thelr ages is & ; 1 Tespectiy, i
©) 413% years? . iy. What will be the ratig ¢
46.1If the product of two succes- (1) Rs. 4,935.885 thelr ages aﬁ[';: g ye;rs ? a5
sive positive integers i 6162, {2) Rs. 5.614.460 (1)10:3 s - 2 .
which ts the smaller integer ? (3 Rs, 8,578.565 (9)4:3 @3:
(178 @) 72 [4) Rs, 5,825.345 {5) Nonie of these
3 76 (4) 74 (5) None of these ' 89, 42 per cent of fivst nunber 4
{5) None of these B53. The cwner of a computer shop 56 per cent of the second nug,
47. The stmple interest accrued on charges his customer 13% ber. What is the respective 1z,
an amount of Rs. 10,530 at more than the cost price. If tio of the first number to the
the end of 5 years is Rs. 6,318. customer paid Rs. 15, 933 for second rumber ?
What s the rate of interest a computer, then what was {(1}4:5
pcpa. ? the cost price of the comput- (2)31:42 o
N8 14 er? 3)4:3 :
:3) 10 ([i; 12 (1)Rs. 14,100 (2} Rs. 16,500 54) Cannot be determined
(5) None of these (3) Rs. 12,700 {4} Rs. 18,200 (5) None of these

48. What should come in place of
the question mark (P} in the
following number series 7
2 b 11 23 47 95 ?

(1) 168 (2) 154
(3) 191 (4} 172
(5} None of these

49, What approximate wvalue
sheuld come in place of the
question mark (?) in the fol.
lowing question?

54.786 + 10.121 x 4,454 = 7
(1) 84 {2) 48
3118 @58
(5] 24
80. A plot of 640 sq. ft. is avail-
able at the rate of Rs. 4,600
per sq. ft. If 30% of the total
cost of the plot is to be paid
for bhooking the plot, how
much is the booldng amonnt?
(1) Rs. 9.38,100
-{2) Rs, 8,83,200
{3) Rs. 9,83,200
(4) Rs. 8,38,100
(5) None of these
81, A single person takes 6 min-
utes to (i a bottle. If from 11
a.m. to 12.30 p.m. 1845 bot-
tles are to be filled, how many
“persons should be employed
on this job ?

{5) None of these
B54. The cost of 12 note-hooks and
18 pens {s Rs. 852. What is
the cost of 9 note-books and
12 pens? '
(1) Rs. 743
{2) Rs. 639
(A} Rs. 567
{4) Cannot be determined
{5) None of these
58. If (96)? {s added to the square
of a numbey, the answer so
obtained is 16441, What 1s the
number ? ’

(1) 67 2} 73
(3) 82 4} 91
{3} None of these

56, In a class of 40 students and
5 teachers, each student got
sweets that are 15% of the to-
tal number of students and
each teacher got sweets that
are 20% of the total number
of students. How many sweets
were there ¢ .

(1) 260 2) 240
(3) 320 {4) 360
{5) None of these

87.A sum of money 1is divided
among A, B, C and D in the
ratio of 3: 7 : 9 : 13 respec-
tively, If the share of B is Rs.

80. One-fith of a number is 48,

What will be 62% of that num-
ber ?
(1) 164.66 (2} 148.8

{3)178.22 (4) 182.44
(5] None of these
61l.In an examination it is re-
quired to get 310 of the aggre-
gate marks to pass. A student
" gets 28% marks and is declared
fafled by 93 marks. What are
the maximum aggregate marks
a student can get ?
(1) 685 (2) 765
3 775
(4} Cannot be determined
(S) None of these
82. The difference between 67% of
a number and 43% of the same
number is 912. What ts 19% of
that number ¢
(1) 608 {2) 798
@) 722 {4) 684
{9) None of these
B3. Mr. Vijay deposits an amount
of Rs. 45,500 to obtain a sim-
ple interest at the rate of 11
Be.p.a for 3 years. What totel
amount will Mr. Vijay get at
the end of 3 years?

(1}Rs. 60,516 (2) Rs. 60,015

4,872, then what is the total

:—Elgz

[
[

(3) Rs. 65,515 (4) Rs. 62.015
(5) None of thesc S
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s ; Y a
'Inl'll.n; g 7 K
’ape;f‘*n . me (2) 132
Tapes | @78 (4) 88
sp W | (5 Noneof these .
! g 1f an amount of Rs. 85,470
¢ ol uted equan%f.;;gg;
I chiidren, how much amount
ndnnr: ()Rs. 2,562  {2) Rs. 2,452
Clive > B)Rs. 2,542  [4) Rs. 2,442
T to u’le (5) None of these :
| REASONING ABILITY
g8, How many such pairs of let-
ters are there in the word
ed MEASURE. each of which has
as many letters between them
*1s qp mpt}il:bg;rdasmﬂlemgish
1t nugy, al . ‘
o (1) None 2) One
(3)Two {4) Three
(5) More than three
67. Four of the following five are
is re. allkc_mac'ertam‘vayandso
form a group. Which is the
tﬁa?m; ' one that does not belong to
ol ‘ml {  thatgroup ?
vat are (139 2163
marks (3) 78 (4) 87
(5) None of these ) :

. ¢8. In a certaln code GOLD 18
written as ‘5124’ and LIVE is
written as ‘2988'. How is

d VOID written in that code ?
e of (Heige (218394
'7:113 (3)8154  (4)8793
: ;‘% of {5} None .of these
SR STINEORMALION]
FOR
it | |LATEST.VACANCIES
; sﬂﬁ‘ and Dates of
"tfo,,] { [Written Examinations,
e 2 | log on our website :
,(;_115. _ www.kitanprakashsan.com
018 ‘
' I. S

ol Directions (60-73) : Study the
owing information carefully and

A ldimghas et s
has eight floors num-
bﬂ:;ed one to eight, in such a way
t the ground floor 18 numbered
Ot:"lr.:. the floor above it, nunmbered
mostand £0 on such that the top-
floor ts numbered eight. One
oulofaight persons viz, J, K, L. M,

V. W, X and Y lives on one of these
floors.

L lives on flcor number 6. Only
one person lives between L and X, |
Only two persons live between Vand |
W. V lives on a floor above W's floor,
V ltves on an even nnumbered floor,
Cnly one person lives between W
and K. Only two persons ltve between
Y and J. J lives on one of the floors
above Y,

68. Who lives on the topmost floor

(4} M Lives ofi the lowermost
ficor. Co

(5) V ives on flnor nuimber 2.

74, ‘MF 15 velated to 'KV in the

same way as ‘DG’ ie related

to_ .- .

(HF 2)&J

(M HK {4) BE

(5) None of these

78. 'What should come next in the

following letter series ?

AABABCABCDABCD

EABCDEFABCDEF

na (2 H

AG " {4B

{6) None of these

76. Among A, B, C. D and £ each

having different weight, Dis

heavier than A and C. E 18

lighter than A. Whao 18 the

lightest ?

)E

3D

(4} Data inadequate

(5) None of these

77. if ‘blue’ is called ‘white’,

wwhite' is called ‘green’. ‘green’

is called ‘red’, ‘red’ is called

‘brown', 'brown’ is called

‘black’ and ‘black’ is called

yellow’, then which of the fol-

Jowing represents the colour

2c

{i-=. flcor number 8)7?
Nx v
3t m @Qw
BK
70. Wha live exactly between the
_ floors on which'Y and J live?
mv.w @)W, X
BLV
4 M, W
BIV.K -
71. Who lives on floor number 5?
mnx 2K
@AM 4)J
Bw
72. Who amongst the following
lives on the floor immediately
above the Moor on which Y
lives?
M
@K
@)L | _
' (4)No one as Y lives on the
topmost floor:
G)J

73. Which of the following state-
ments is true with respect to
the given arrangement?

(1) ¥ lives on floor number 7.

(2) W lives on & floor immedi-
ately above Y's floor.

of human bleod ?

(1} red 2) brown
(3)black  (4) yellow
(5) blue '

78, Mohan walked 20 metres to-
wards West, took a right tum
and walked 30 metres. Again
he took a right turn and
walked 20 metres. Towards
which direction was he fac-

ingT?

()North  {2) South

(8)East {4) North-East

(5) None of these

70. Navin correctly remembers

that his mother's birthday is
after fourteenth but before

~twentieth, His sister correctly
remembers that their mothers
birthday is after eighteenth
but before twenty-third. On
which date 1s their mother's

(3) None of the given options
19 ti :

birthday ?
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— conclusions ATl _
(L Eightecnth 1. Some flowers afe peus. :g: HB @ ‘ ¢
& ;f-:‘rst . Some leaves are pens. 0. How many such vowels 5, & p&p @ﬂl‘
(8) Twen ed 84, Statements 3 there in the above amrang, . glef o
(4) Cannot be determin " ATl books are MIrTOrs. ment, each of whichi is iy, . #".p ¥
_ {8) None of these Some mirrors are hotels. dtately folowed by a congg | g0 O
80. Fowg;h;mﬁ:nedﬁ Somme hotels are bulldings. mtmg;:lrbn;d;atel}'mm - o ?%Q
alike . a <
form a group. Which s the Conclusions i e l;q};ne (2) One ¢ 0@
one that does not belong to 1. Some buildings are Toirrors. {1) (4) Three P
that group ? 11, No bullding is mirror. g} ';:jr g Y
1) Pomegranate 86, Statements @ _ .
:2} Pear {3) Mango Some hammers are needles. phecﬂoni:f {91 am?tafet;ﬂdy m ;‘;
{4)Papaya  (B) Guava All needles are bins. the fallowil'lgth . ;r;:;ﬂms glwnbz - Wsts s
Directions (81 - 86) ¢ In All bins are hills. :tr:?fns“”r _, ;:;f‘mo
cachafthequeeﬂonabeluwmgiV- mdmz ow : wt
en three statements followed by o 1. All bins are needles. PO R ﬂem?ti pelo ?
conclusjons mt;“berw I and H.ei:lott; - hills are hammers. 21;:;& aén::id a o the Hght ot n a® it
have to take the glven statemn! - 90] : Stud‘y thnd £ I.
to b Dircctons (86 d second to the left of R. Big ' g glon
to be true even if they seem to be the following arramgement careful- ?lnﬂrdtoﬂleleftofT“mﬂiSnotm' dusGi

at variance from commonly known
facts. Read all the conclusions and
then decide which of the given con-
clustens logically follows from the
given statements disregarding com-
monly known facts.
Give answer (1) If only Con-
cluston I follows.
Give answer (2) If only Con-
clusion II follows. :
Give answer (3) if either Con-
clusien I or [ follows.
Give answer (4) if neither
Conclusion I nor II follows.
Give angwer (p) if both Con-
chusiens I and II follow.
81. Statcements :
Some boxes are packets.
Some packets are tubs.
All tubs are desks.
Concinsionsa :
I. Some desks are packets.
I1. Some desks are bhoxes.
82. Statements :
All chairs are rooms.
Some rooms are tyres.
. All tyres are wheels.
Conclugions ;
1. Some wheels are rooms.
I, Some rooms are chairs,
83, Statements :
Some peans are tables.
Some tables are leaves.
Some leaves are flowers.

¢

L .

ly and answer the questions given
below ¢

Z1M3#ATHWDFGES$
Bl
H@72WO4VOUSIKN

86. Which of the following is the
eighth to the right of the six-
teenth from the right end of
the above arrangement ?
(1) %6 (2) 4
(310 T
(%) None of these

87. How many such numhbers are
there in the above arrange-
ment, each of which is imme-
diately preceded by a letter
and Immediately followed by a
symbol ?
(l)None  (2)One
(3) Two (4) Three
(5) More than three

88. If gll the symhbols in the above
arrangement are dropped,
which of the following will be
the fourteenth from the left
end?
(17 [2)H
BE @D
(5) None of these

88, Four of the following five ape
alike in & certain way based on
their posttions in the aboye
arangement and so form g
group. Which is the one that

immediate neighbour of W, S - duston
third to the left of V, who isnotan | al

immediate neighbour of T. _ gusion
91. Who is to the immediate right G
of 37 condu
me @Pp © e
@w @T R
(5) None of these . clusio)
82. Who is second to the leftof S? ' B6. §
(p 2w _ ?
3Q o _ ¢
(4) Data inadequate
{5) None of these ‘
93. Who is third to the right of T?
(v
2)r :
(3w :
(4) Data inadequate
(5} None of these . 88,
94. In which of the following pairs :
is the first person sitting te
the immediate Jeft of the sec- :
ond person?’
1)gs @) TQ
Bywp () TR
{S) None of these :
98. Who is /are sitting between W
andT? 3
(1)V Only
{2)R Only
(3}V and R Only
{49P. V., Rand g Only

97, -

apmein wanp s

U

does not belong to that group ?

(3} S and P Only




t‘l

(93 100) : In the
25 questions, the symhols @,
- and + are used with the
qW'mg meaning as illustrated

“ad i
‘°1 &u "ew@ @' means 'P is either
& t::;h"h sﬂunm.manorequaltug
¥y @' means 'P ia either great-
h%&q"-' ﬂ,anorequaltog
.pqag means P is smaller than
) % g"epsg'means'ﬂsgreamman
:::;.st"ﬂyl g p @ 9" means ‘P is equal to "
m_;fluu}: mn each of the following ques-
h,‘ ons assuming the given state-

nts to be true, find cut which of
two conclusions I amd II given
belm" them is /are definitely

Pta Give answer (1) if only con-
q cusion I is true.

Give answer [2) if only con-
* cusion I is true.

'- Give answer (3) if elther con-
cjusionlornonclusionnisn-ue

: Give answer (4) if neither
. conclusion I nor conclusion Il is
| true
i Give answer (8) i both con-
dusions { and II are true.
98, Statements :
M®%T, TSK.K&D
ConcIusions ;
1. T$D
nLDSM
g7, Statements !
F@B BN NSH
Conclosions *
. NSF
: LHSF
08. stﬂtem“ts:
. R®J
gpaig'- R*M.Mil:,
fﬁw. L. JSM
§ nJeM
99. Statements :
BSN.N*RR@K
Concinsions :
I. K@N
I.B 8K
100, 8tatements ;
JOK.KSN,N#x D
Conclusions :
L J%N

Itofs?:

tofT?

i

88. B)

42-[5]

46. (1)

80. (2 B2. (2}

B4. (2} B6. [5)

58, (4 80. 2)

a2. (3 84. 4)

a6, (3) 6s. (1)

70. (5 72. (2)

74, (4) 76, (4)

78. (3) 80. (8}

8L.{(1)] 82.00 84. (3)

88. 1) | 86.12) 8a. (1)

8e. (5| 80. (1) g2. (1} |

93.(9) | 94 (2) 96. (4)

97.(1| 98.(3 | 9e.(5)] 100. 4

LD%K

T e Rt g

=TEXPLANATIONS =

3, (1) Distraught (Adjective)
= extremely upset and anxious
so that you cannot think
clearly.
Elated (Adjective) = very hap-
py and excited because of
something good has happened.
(2) Narrate (Verb) = to tell a
story; reiate; recount.
Look at the sentence :
He was asked to narrate the

4

details of the conversation {0

Mohan.
6.
something to somebody as
they have doné something good
Penalise (Verb) = to punish
somebody.

7. (4) Refuse (Vert) = to deny; to f

decline

11. (4) Steal

(1) Reward (Verb) = to give |

Look at the mte'nse S g
He flatly refuseﬂ todlacussthe
matter. :

12. [2) save his ownt aldn

13. i) In jiffy

14. [1) tried

18. {3) hope thet

16.O)F

17. (8D

18.(1)A

18.{9C

20.{2) 8

21.(3) Here, when suddenly ...

should be used.

22, (1) Here, The secretary ignored

them for hours ... should be

used.

23, (2) Here, father and son devel-

oped ... should be used. When
nouns are used in pairs, no ar-

icle 1s used.

24, (4) Here, which he carried

across his neck ... ghould be

used.

25, (:B)meserltemeshcwsfactand

present time, Flence, SEeeTn Very

27. (4) entering
28, (2) fix
29, (4) even
80. (2) scared
'31.12)'-9—427:3@-4-" = 1200
' Zy 488,36 +? = 1200
“"? 1200 - 4688.36=711.64
32.(3)3431+144 (7R + 600
" = (7 + 600 =3625
==E.l'?_)_“=3625-600=3025

."..'-?" J3025 = 55
,33_-{11?;2-{-;-[—34.% _1_1

'.J-

W

-‘l-

MR

A




e TP,

s SR Ty e i,

— - T e
ds.(ﬁlﬂamsoldbyatoreal’andn p [ .E._)- _]
in January - B2. (2) C:1 .= 100 C g
34.[3]3380::;53 «2598 =325 +273 = 300 ' Ry
2308 x 100 Required peroent “) b
=T 600
52 -
88. (5)? x 755 =3387.28 250x100 _ 280 - 15000 [(119° 1] 3
=" 60 & 67631 -1) g
= 15000 (1.3 3
o pa 200728 100 _a514 125 .2 = 15000 x 0.367631 !
52 . 5 :
= — = 413 =Rs. 5514.46 :
9. (7= A2 =M} g )78 x70=6162 §9. (1) Cost price of computer
. . =78 4
=111 .+ The smaller tnteger _Rs. (1“:; X 15933) RS.14100 H
97. ()7 =22 = 74.25 R0
. 47. (4) Rate = prneipal x Time '§4. (2) Let the CP of 1 note beok
88, (5)? = (67539 + 43908) - 00 - Rs. xandCPof 1 pen=Rs.y,
73902 6318 x the question, |
—_— anmum According to the g
= 111447 - 76902 = 32548 =T0530x5 = 12Pe 125:0-:- 16y =852
89.(4)?=126x 102 X 6.3 48: (3) The given number series 13 Dividing both sides by 4,
=835.38 "~ based on the following pat- 3x+4y=213
26677 tem : = 3{3x+4y) =3 x 213
40.(3) = =79x11 2x2+1=5 = Ox + 12y = 639
28677 5"2”1‘1;3- §8. (5) Let the number be x
=2 =79x11=33 ;;:g:}-q According to the question,
- . 96} = 18441
- ?=33 x 33 =1089 47%x2+1=95 §g+9]2216=16441
41, (5) Hats sold in March and L7?7=295%241=190+1=191

April ;
Srore P = 280 + 320 =600
Srore $ =380 + 320=700
Required ratio
=600:700=6:7

42, {5) Hats sold by stores ¢} and
T: '
February = 260 + 400 = 660
May = 320 + 260 =580
Required difference

~ =560-580=80 .

48. (2) Required percent

_ 270-180

%100
270 :

100
2 xlOO = —-3-- :33—%

44, (4) Requir_ed average

- 280+ 350+ 300
—_ﬁ
3

30
3 = 310

55
@.[El?uﬁ x45 24.75=24

[54.786 ~ 55; 10.121 = 10]
80. (2) Total cost of the plot
=Rs, {640 x 4600} '
= Rs. 2944000
= Booking arnount-
=30% 0f 2044000 -

2044000 x 30
=10 =Rs.883200

81.(5)
Time Bottl’es Men
somms ] tsd 1)
where x's number of men
80: 6
SR 1845} X
=990xx=6x1845

8x 1845

=X=""an '.=.‘l23

= ¥ = 16441 - 9216 = 7226

= x=,7225 =85

56. (5) Number of sweets given to

all students

35
-40><40x100 = 240

Nurnber of sweets given to all

20
teachem=5x40xm
=40

*« Number of all sweets
=240 + 40 = 280

87. (1) Let the total amount = Rs.

X,
Sum of the ratios
=3+7+9+ 13=32

5

:

B's share = Rs. 4872
- e
xxaz = 4872

4872 x 32
== X me————

? = RS- MJ




l MODEL PRACTICE Sﬁ'lt-rlﬁ

a3, (1) . 7a. (3) Y lives on floor number 2
] L W lives on a floor lonest
Sl = Principat x Time X ‘Rale . pelow e, flook.
” i M lives on flcer pumiber 7.
' ) + lives on floor number 4.
- Rs. 8352 - 45500% 3x 111 . 15015
59.(4) Let the present age of the W 74.@y pP2>K
: man = 5x years and that of 2~ Required amount 5
. ; 9": = Rs. (45500 + 15015) = Ra, 80515 oty
: = xyears. . s = similaxly.
. according to the queation. i =176 44 = 44 x4 b G—>B E
§x+x=18x2  pmddx2=88 o
tey ~ 6x=36= x_Esﬁ B as. g;lﬁ:nount recelved by cach -2 .
N.pg. | Manspresentage=5x6 78.(3) A, AB, ABC, ABCD. AB"
) 4100 : : = 30 years =Rs.[—a-5;—572) =Rs. 2442 - CcDE, ABCDEF, ABCDEF@
tehy, < Son's present age =G years 76.14)D > A C
e Required ratio after 6 years 66. (3) ASE
stog, * ; =36:12=3:1 — 1 c
9. (3) Let the first number be X 3 5 1 19 21 8 5 D> A, 4%‘}
¥4, and the second number be 4 M E A 8 U R E| 77.(2)The coleur of huran blood
According to the question, P 1 1s red, But here red bhas been
’ 2 o yx =2 67. (4) The nurrber 37 is a Prime called brow:
XX {an ey N €
. 100 100 Nuher. 78.(3) .
4
ition, ,,-’5=§g=3 gs.(yc o L b LI VE 20m N
Y AR A A
) ; eo.[zjl.etthenumhe_rbex. 5124 298 3 o w B
= - According to the question, ' =)
5 x Therefare, " s
3—=4B==>x=5x48=240 v IO 1D 201;11
gvenb , g296of 240 Ly Ly
.8 19 4 70. (5) According 10 Navin his
_MOXE2_ 458 o fher's birthday may fall on
100 (68-73) : 15th, 16th, 17th, or 19th
o =310—-93=217 ' 8 X their pother's birthday may fail
2 — Maximum aggregate marks 7 M on 19th, 20th, 21st or 22n4d.
) 247 x 100 6 L Conmmmon Date = 19th
RIS 5 J 80. (3) Mango Is Julcy fruit having
28 a v one seed.
62, (3) Let the number bex. 3" K (81-88) :
¢ =B According to the question. 2 v () All tubs are desks — Uni-
= (67 - 43)% of x= 912 . W versal Affirmative (A-type).
24 _ (1)) Some boxes are packets =
= XX J00°= 912 9. g] X li:rcs on the topmost particular Affirmative (1
aoT. ty.pc].
912 x 100 70, (6)V; and K Ive between the (1)No building is mirror -
= x=—pr =800 flogrs on which Y and J live. Universal Negative (E-type)-
19 71. {4)4] ives on fioor number 5. (iv) Some buildings are not mic-
. 19% of 3500 =—-1-d-§-— 72, (2K lives jmmediately above rors — Particular Negative
| 0 the floor of Y. (©-type)-
=722 !

s .
i i

e __




i3 "5_: SET-10 ]I———__-;-——————-——== =

Hlitubsazedwks
1 -l».ﬁ! = [-type of Conclusion
“Some packets are desks.”

Conclusion I is Converse of it. -

82. (5} Some rooms are tyres.

All tyyes are wheels.

I + A = I-ype of Conclusion,
"Some rooms are wheels.”
Conclusion I is Converse of it
Conclusion H is Converse of
the first Premise.

83. {4} All the three Premises are
Particular Affirmative. No Con-
clusion follows fom two Par-
Heular Premises.

84. (3) Conclusions ! and I foerm
Complernentary Pair. Therefore,
either Conclusion 1 or 1T fol-
lows.

88. (4) Some haramers are needles,

AH neeclles are bins.

. Some hammers are needles.

I+ A= I-type of Conclusion

“Some hammers are bius.”
Allncedles are bins.
All bins are hills.

" A+A= Atype of Conclu-
. siont
“All needles are hills.”

86, (2) 8th to the right of the 16th |

from the right end means 8th
from the right end, l.e. 4.

" 87.(3) Iﬁa ter | Numba' | Symbol |

new s;cqumee wm:ld be:
Z1 M.':IATDFBEBII-I¥2W4V5U9KN

14th from the left

go. W —2 s 4 —2o 2
u.—"'—z—-)ﬁ———'-s—-)s
H 2, 7 25 1
3—*-2—-»A—-'§-—*M

20. [1)
[Number | Vawel | Consonast |
There is no such combination.

(81 ~ 96} :
Sitting arrangement

‘91. (41 is to the irnmediate right

- of 8.
92. (1) P 18 second to the left ofS
93. {5) R is third to the right of T.
84, {2) T 1s to the immediate left of
Q.

tween W and T.
(88 - 100) :

=5
B>

96. 4 M%T=M>»T
TSK =2T>K
~ K®D=KgD
"Iherefore.M<T>ksD
Conclusions
L T$D -»'i‘>D Not True
HD$M=~D>M : Not True
97.[1]F@B=>F B
B%N:»Bc:N
NS8H aN:rH

=z
@oy =

=<

B8. (1) According to’ queethn. the

9B. (4) P, V, Rand () are sitting be

u.HsF =>H>F:Not.w
93,(3)R*M=rR?.M
M@K=>M=K

Therefore. R2M =K<gJ
* Conclusions
1. JSM =J>M:NotTrue
H-J@M =J =M : Not True
Either I or 11 is true. .
99.5)B$Nw=B>N
N¥R=NzR
R@K=R=K
*  Therefore, B>NzR=K
_ Conclusions
L KON =K=<N:True
H0.BSK =B>K:Tme
100. WMJIOK= JsK
KSN-=K=>N
N*D=N>D"
Therelore, J < K>Nz2D
Conclusions
1. J% N =J < N: NotTrue
II. D % K= D <N : Not True

Kod =Ksd - ii
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